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Calculus 2.

Second Exam

Date: Saturday 11 /6 / 1432.
Time: from 21:00 to 22:30.
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y= tan~x
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There is a symmetry about the origin
1 — cos 26 1 + cos 26
- 2n 2
sin“f = ——— cos?f = ———
2 2
— -1 _ -1
y=8C X y=¢CSC X

Domain: |x| =1
Range: [0, w/2) U (7/2, 7]
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Domain: |x| =1
Range: [-7/2,0) U (0, /2]

Cal




QL.

The length of the curve defined parametrically by x = t*, y = 2(2t + 1) z

where t €[0,4], is

Hint: (t+1)2=t>+2t+1
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Q2.

3
The length of the curve defined parametrically by x =1t*, y =12t +1) *

where t €[0,4], is

(A) (B) (€) (D)
12w 12 15m 15
Q3.
If f(x) =>+5, then f~'(x) =
(A) (B) (€) (D) (E)
2x+5 2x—5 2x—§ 2x + 10 2x — 10
Q4.
— (Incos2x) =
dx
(A) (B) (©) (D) (E)
—2tan 2x —2cot2x 2tan 2x 2 cot2x —tan 2x
Q5.
6 5cosf 16 =
fo 1—5sinf
(A) (B) (©®) (D) (E)
In5 In3 —In3 1—5cos2 5sinv2
2 2 —_
4sin2 1—5cosv?2
Q6.
1
lim (Inx)x—e =
(A) (B) (C) (D) (E)
1 e? e% e 1
e




Q7.

5 X
im (5) =
(A) (B) ©) (D)
—o0 Io'e) 1 0
Q8.
—(e* tan"1x) =
dx
(A) . (B) N
O X tan~ ! x ¢ + e¥ tan"lx
1+ x? ¢ 1+ x2
(®) . (D) N
__° + e¥ tan"lx ¢ + e¥ tan"lx
1+ x2 x2—1
Q9.
sec(tan™12x) =
(A) (B) ©) (D)
Vax? +1 4x2 — 1 V1 — 4x2 Vax? +1
4
Q10.
lim csc™lx =
X—>—Q0
(A) n (B) ] (€) _ (D) (B)
3 z 3 0
Q11
d
—(sin"!'x + xsech™'x) =
dx
(A) , (B) B ©) B (D) ,
— + sech ™ x —sech T x sech™ x — sech ™1 x
012,
2cosh(lnx) =
(A) (B) ©) (D)
x—1 x2 +1 sinh x 2 sinh x
X x X X




Q13

| do
pp—— Hint: complete the square
| =
(A) (B) (®) (D) (E)
tan"'(0 —2)+C | tan 'O+ 1D +C | sin"?!(@+1)+C | sin"'(6—1)+C | Insin'9+C
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Q14.
j do

pp— Hint: complete the square

V260 — 62
(A) (B) (€) (D) (E)
tan1(f—2)+C | tan"'(@+1)+C | sin"!(@+1)+C | sin"'(6—-1)+C Insin™'0 + C
Q15.

3x3 + 13x2% + 12x + 2

dx = Hint: Observe the degrees
x+3
(A) (B) (©)
x3+2x%>+2In|x+ 3|+ C x3—4x?>+2In|x+ 3|+ C x3+4x*>+2In|lx + 3|+ C

(D) (E)

x3+4x?2—-2Inlx+ 3|+ C

x3—2x2+2Inlx+3|+C
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Q16.
3x3 4+ 13x%2 4+ 12x + 2
dx = Hint: Observe the degrees
x+3
(A) (B) (®)
x3+2x2+2Inlx+ 3|+ C x3—4x?+2Inlx+ 3|+ C x3+4x%?+2Inlx+ 3|+ C
(D) (E)
x3+4x?>—-2In|lx+ 3|+ C x3—2x>+2In|x+3|+C
Q17.
j | Xd
xXSlin—ax =
2
(A) (B) (®)
— f+4$inf+C 2xcos£—4sinf+C —2xcos§—4sin§+C
X €055 2 2 2 2 2
(D) (E)
—2xcosf+4sinf+C 2xcos£+4sinf+C
2 2 2 2
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Q18.
| wsinzd
XSIn—dx =
2
(A) (B) (©)
— X 4 'n§+C 2xcosf—4sinf+6 —2xcosf—4sin£+(]
xcos2 + 4 si > 5 5 5 5
(D) (E)
—2xcosf+4sinf+C 2xcosf+4sinf+6
2 2 2 2
Q19.
j (x2 +7)e* dx =
(A) (B) (©)
eX(x>+7)+C eX(x2+7x)+C e*(x?=2x+9)+C
(D) (E)
eX(7x2 =2x)+C eX(7x*+2x)+ C
Q20.
j secx dx =
(A) (B) (©)
In|sec x + cotx| + C In|cscx + tanx| + C In|secx + tanx| + C
(D) (E)

—In|cscx + cotx| + C

In|cscx + cotx| + C




Answers to second exam

11/6/1432H
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